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1.

According to Haryanvi folklore, Guggapir is
believed to be the protector of

(A) Human (B) Birds
(C) Cows (D) Snake

The process by which the sample is
constrainedto include elements from each of
the segments is called sampling.
(A) Simple random

(B) Complex probability

(C) Systematic

(D) Stratified random

The Constitution of India provides which
type of citizenship for the whole of India ?
(A) Single citizenship

(B) Dual citizenship

(C) Both single and dual citizenship
(D) None of the above

Which of the following is not a geographical
feature of Haryana ?

(A) Lower Shivalik Hills

(B) Bagar Tract

(C) Yamuna Ghaggar Plain

(D) Chambal Valley

Under Consumer Protection Act, 1986,
any person aggrieved by an order made
by the State Commission may prefer an
appeal against such order to the National
Commission within a perod of ____
days from the date of the order (Seclion 19).
(A) 90 (8) 30

(C) 120 (D) 15

The Notional Price methods includes

(A) Specific price, First-in flirst-out, Last-in
first-oul

(B) Simple average price, Weighted
average price, Periodic Simple
average price

(C) Base stock method, Highest-in first-

out, Maving simple average price
(D) Standard price, Inflated price,
Replacement price

-

15/2019 (17)

F T87% HAHA 2 |
(A) T (B) e
(C) T (D) 74

Tz ufFn faoE gm 9o &3 3 e w5
mfve F7a 1 T & feo a4 S 2,
ufqerm Feema 2

(A) AT AR,
(B) wifzet wifrwan
(C) W=
(D) =F1FA Ak

(A) TS ATiTEA

(B) A Tt

(C) TFa1 317 e AT 21
(D) 37 1 7 1S 7

TR WA sifafem, 1986 F T =
ST B0 R o faf) sirew
=T S0 ) A

31t 3, sfte,

5 =1fum =1

kL et ufm_nfai‘rr. U fifq | =@

RARUSE TR O 19) 1

(A) 90 (B) 30

(C) 120 (D) 15

e yem fafin b minE 3

(A) hf'n'a RGRDRELER iR ) s
A~ 321 gum s '

(B) RN sitmm ey i 3ftma
ST T St g

(C) snum w2, fafu, Twran -y gum-
AR, FEPIE T s e

(D) "W g, afsiq W, afmams ge



5

7. This Haryana based writer was the editor
of Urdu Magazine ‘Bharat Pratap’
(A) Balamukund Gupta
(B) Pratap Narayan Mishra
(C) Mahaveera Prasad Dwivedi
(D) None of the above

8. Under price policy, the firm
divides its markets into zones and quotes
uniform prices to all the buyers located in
the identified zone.

(A) Base point

(B) Uniform delivered
(C) Zonal

(D) Freight absorption

9. was the last king of Tomara
dynasty who handed over the throne of
Delhi to his son-in-law Prithviraj Chauhan.

(A) Vijayapala (B) Mahipala
(C) Anangapala (D) Gopala

10. Hitesh is 40 years old and Ronnie is
60 years old. How many years ago was the
ratio of theirages 3:57?

(A) 5 years (B) 10 years
(C) 20 years (D) 37 years

11. Under the queueing theory, customer's
behaviour are
(A) Balking

(B) Reneging
(C) Pnionties

(D) All of these

Department of Information, Public Relations
and Languages, Haryana brings out a
magazine named

(A) Haryana Vikas

(B) Haryana Darshan

(C) Haryana Samvad

(D) None of the above

12.

13. won National Film Award lor

best supporting actress for her role in the
Haryanvi film ‘Pagdi The Honour'.

(A) Ushzf Sharma (B) Baljinder Kaur
(C) Sumitra Hooda (D) Sheela Pahal

3.

10.

1.

12.

13.
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14.

15.

16.

17.

18.

18.

20.

21.

As per the Article 60 of Indian Constitution,

the President of India must take oath in the
presence of

(A) Vice President of India
(B) Chief Justice of India

(C) Prime Minister of India
(D) Speaker of Lok Sabha

Ethics in language is called
Ethicus.

(A) Greek (B) French

(C) Latin (D) All of these

Principles governing a Financial Plan
consisting of

(A) Simplicity
(C) Liquidity

(B) Flexibility
(D) All of these

Maharana Pratap fought against Mughals
in the historical battle of

(A) Chittorgarh (B) Haldighati

(C) Mewar (D) Lahore
(A) Ni (B) Pb
(C) Cu (D) Zn

If'white'is called 'blue’, ‘blue'is called redt
‘red’ 15 called yellow ‘yellow' is called®
‘green’, ‘green’ is called ‘black’, blar':%d\ls
called ‘violet', and ‘violet'is called "ora 19
what would be the colour of human blgod™
(A) Green (B) Yellow r

(C) Violet (D) Orange,

f the following iséne of the
gvcrllglggs '!(u%hlshtlra wganted {o~borrow
from Duryodhana ?

(A) Mewal (B) Palwal
(C) Karnal (D) Sonipat

Problems in measuring divisional

performance consis! of

(A) Selection of a profit index N

(B) Problems in computation of division
controllable profit

(C) Problems in identification of
controliable costs
(D) All of these

e

14.

16.

17.

19,

20.

21.
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22. Kashish goes 30 meters North, then turns
right and walks 40 metres, then again lums
right and walks 20 metres, then again lurns
right and walks 40 metres. How many
metres is he from his ariginal position ?
(A) O (B) 10
(C) 20 (D) 30

23, programming deals with the
optimization (maximization or minimization)
of a function of variables known as objective
functions.

(A) Sensitivity
(B) Linear

(C) Simplex

(D) None of these

24, demand refers to existing
demand with its immediate reaction to price
changes, income fluctuation, elc.

(A) Long-run (B) Short-run
(C) Medium-run (D) None of these

25. Which of the following is nol an award
presented by Haryana Sansknt Academy ?

(A) Maharishi Valmiki Samman
(B) Mahakavi Baanbhatt Samman
(C) Mahanshi Vedvyas Samman
(D) Mahakavi Kalidasa Samman

26. accounling provides information
to management so thal planning, organising,
directing and controlling of business
operations can be done in an orderty manner.
(A) Cost (B) Management
(C) Financial (D) All of these

27. A man has some hens and cows. If the
number of heads be 48 and the number of

feet equals 140, then the number of hens
will be

(A) 22

(B) 23
(C) 24

(D) 28

22.

23.

24,

25,

26.

27.
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28.

29.

30.

31.

32.

33.

is considered as the first

critical manifesto of Urdu poetry.

(A) Yaadgar-e-Ghalib

(B) Deewan-e-Haali

(C) Hayat-e-Saadi

(D) Woh Nabiyon Mein Rahmat Laqab
Paanaywala

A is the monetary or/and
quantitative expression of business plans
and policies to be pursued in the future
period of time

(A) Budgetary

(B) Budgetary control

(C) Decision tree

(D) Budget

When a strong magnetic field is applied to a
system whose spectrum is being recorded,
each spectral line gets split up into a number
of separate lines. This phenomenon is

(A) Zeeman effect  (B) Raman effect
(C) Paulis effect (D) Frenkel defect

Which of the following districts of Haryana
shares its boundary with 2 States ?

(A) Yamunanagar (B) Rewan
(C) Mahendragarh (D) Charkhi Dadri

A B.C,D. E F and G are siting on a
wall and all of them are facing East C is
on the immediate right of D B is al the
extreme end and has E as his neighbor.
G is between E and F Dis sitting third from
the South end

Name the person who should change place
with C such that he gets the third place from
the North end

(A) E (B) F

(C) G (D) B

The binominal distribution also known as
______ distribution.

(A) Bernoulli (B) Blaise Pascal's
(C) Chou's (D) Griffin's

28.

29.

30.

31.

32,

33.
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34.

35.

36.

37.

38.

39.

40.

41.

1 Joule is equal to
(A) 1kgm?s?
(C) 1kgm g™
In one hour, 3 boat goes 11 km along the

stream and 5 km against the stream. The
speed of the boat in still water (in km/hr) is

(A) 3 (B) 5
(C) 8 (D) 9

Inthe transhipment problem the main goal is
to reduce the cost of shipments.

(A) Total (B) Prime
(C) Fixed (D) All of these

is the first and youngest woman in
the world to climb Mt. Everest twice.
(A Bachendri Pal (B) Santosh Yadav
(C) Premlata Agarwal (D) Arali Saha

(B). 1 kg? m’ 5
(D) 1kgm? s?

consists in compelling actual
costs to conform to planned costs.
(A) Cost control
(B) Cost reduction
(C) Uniform costing
(D) None of these
Haryana contains 2 National Parks. One of
them is Sultanpur National Park. The other

one is
(A) Bhindawas National Park

(B) Kalesar Nalional Park
(C) Nahar National Park
(D) Chhilchhila National Park

Sum of all odd numbers upto 100 is
(A) 5050 (B) 2500
(C) 2525 (D) S000

Who has authored the book titled “Manohar
Parrikar — Brilliant Mind, Simple Life” ?
(A) Nitin Gokhale

(B) Rajnath Singh

(C) Shashi Tharoor

(D) None of the above

34.

35.

36.

37.

38.

39.

40.

41.
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42. The British resident who was responsible

for opening of Sanskrit College at Benaras
in17917?

(A) Jonathan Duncan
(B) Macaulay

(C) Sir Charles Wood
(D) Mr. James Thomson

43, The standard deviation of the sampling

distribution is called the error.
(A) Mean (B) Zero

(C) Standard (D) Al of these

In 1982 Amrita Pritam was honoured by

Bharatiya Jnanpith Award for her collection
of poems.

(A) Rasidi Ticket

(B) Pinjar

(C) Sunehade

(D) Kagaz Te Kanvas

45. The output of the compiler is called
(A) Source Code (B) Interpreter
(C) Object Code (D) Mix Code

46. Responsibility accounting which focuses on
responsibility centers is an important aid in
the control process.

(A) Audit

(C) Financial

(B) Management
(D) All of these

47. law which is concerned with

communicalions and automatic control
systems.
(A) Consumer

(B) Wage
(C) Cyber

(D) Trade

Which of the following decides the eastern

boundary of Haryana by separating it from
Uttar Pradesh ? L ¢

(A) Ganga
(C) Ghaggar Hakra
49.

48.

(B) Yamuna
(D) Chandigarh

pricing is the method of setting

\he prices in relation to |
competitors. e prices of

(A) Sealed Bid (B) Go
ing rate
R (C) Cost-pius (D) Target return

42,

43.

44.

45.

46,

47,

48.

49,
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50.

51.

52.

53.

55.

56.

57.

Dby

f:}*f ,
A ;é;@/r# "

In Haryana ‘Piliya’ will be sung during
occasion of

(A) Birth
(C) Death

(B) Marnage
(D) Holi

The Kantianism Ethical Theory developed by
(A) Immanuel Kant

(B) Aristotle

(C) Albert Z. Car

(D) Niccolo Machiavelli

fund is an entity which collects
money from different investors into a pool
and invests it in shares and bonds etc.

(A) Mutual (B) Pension
(C) Provident (D) All of these

The factors influencing corporate
governance are

(A) Accountability of Board of Directors
(B) Financial Disclosure and Controls
(C) Stock options

(D) All of these

A is a question you ask of a
database.

(A) Tuple (B) Record

(C) Query (D) Schema

Under one-way classification model of
variation, the variance between samples
is 16.7 and vanance within samples 1s 13.
Therefore, the vanance ratio (F) is

(A) 1.285 (B) 1.385

(C) 1485 (D) 1.585

The earnings after tax 1s Rs. 1,30,000 and
the total number of shares are 32,000.
Hence, the earnings per share is

(A) Rs. 4.33 (B) Rs. 3.7

(C) Rs. 4.06 (D) Rs. 4.86

The price-partitioning of the marketl is
called

(A) Market expansion

(B) Market development

(C) Market strategy

(D) Market segmentation
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58.

59.

60.

61.

62.

63.

A

The Indian Govemment setup Commission
under the Chairmanship of
on 23 April, 1966 to divide the existing Slate
of Punjab and determine the boundaries of
the new State of Haryana.
(A) Justice J. C. Shah

(B) Justice M. Katju

(C) Justice Deepak Mishra
(D) Justice Ranjan Gogoi

The Competition Act, extends
the State of

to the whole of India except
Jammu and Kashmir.
(A) 2005

(C) 2003

(B) 2002
(D) 2004

World Water Day is held annually on
(A) 22" March

(B) 22" April

(C) 22" May

(D) None of the above

Capital Budgeting refers to

term planning for proposed capital outlays
and their financing.

(A) Short

(B) Medium

(C) Long

(D) All of these

In two-way classification model, how many
factors are taken into consideration to find
out analysis of vanance ?

(A) Three (B) Four

(C) Two (D) Five

____  __is the most widely spoken
dialect of Haryanvi.

(A) Khariboli

(B) Bangaru

(C) Ahirvati

(D) None of the above

-10-

59.

60.

61.

62.

63.
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g4. Match the old names given in List— | with |  64. = — 1 3 faw o goa i @ gEh - 0 A e
the new name of the tributaries of the river fay =1 1 wers Al F = am | gafe
Indus given in List —II. #ifsu)

List—| List—1I gt -1 = -1
|. Shatadru 1. Beas (G 1. =H
Il. Chandrabhaga 2. Sullej 1. FIZET 2. HddA
IIl. Vipasa 3. Jhelum . fagrn | 3. T
IV. Vitasta 4. Chenab v, faamm 4, foam
roonomowv | n m v
A3 1 4 2 A)3 1 4 2
| 2 4 3 1 82 4 3 1
c2 3 1 4 €2 3 14
2 4 1 3 @2 4 * 3 }

65. The Consumer Protection Act, 1986, | 65. ST gregn wiffaam 1986 =1 HHT 5;
Section 6 of the Act, how many Rights of IEE T IquTRN o TR a7fersRTal 1 JTAT
consumers are recognized ? e
(A) 6 8) 7 (A), 6 (B) 7
(C) 8 (D) 9 (C) 8 (D) 9

66. The time gap between the placing of an | 66. TH e 3 31 wE g ¥ arafas =9 1
order and the actual arrival of the inventory &4 & =l4 1 FHY AqUA LD
is known as time. FEQH A AR |
(A) Maximum (B) Lead (A), dfaFam (B) =red
(C) Minimum (D) Average (C) =[Aam (D)_ 37r&d

67. scales include the characteristics | 67, IO ° AETE 9T F A&
gi (}ze nominal scale plus an indication of STH1 U 5H o Hehd TITHE & |

r' -
(A) Interval (B) Ratio (A) STTet (B) 3T9Td
(C) Ordinal (D) Nominal (C) &0 §& (D) FTeqfA=
68. If the letters of the word "SHUKLA" are | 68. af2 37rsfl & “SHUKLA" z i
arranged allphabeticaliy from left to right. VAT F W 4 m??miﬁm? 31;’2 ;?:T
ow many letlers will remain at th fF S - . NS v
position ? i aihe Same & AT Tl TAH T/ T 7
ECA] One (B) Two (A) U (B) 2
Th .
. ) Three ) ) (D) None (C) = (D) EFIéTgﬁ
. —_demandis acommon device | 9 M oh
for describing the shape of the d ¢ e 1, HIT 5 ) A1 1 farm
function. P & demand ww Faq M A R | "
(A) Elasticity (B) Non-elasticit (A), iTeErgiteTan s
Y B) awmavficr
(C) Forecasting (D) Company (C) wiaerami ((D)) F ferdi
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70.

71.

72,

73.

74.

75.

76.

A

— is just PowerPoint’s term
Or inserting many photographs into a
presentation all at once.

(A) Photoshop (B) Photo frame
(C) Photo album (D) Photo content

Kalka-—Shimla railway tracks, one of the
world heritage sites was built in the year

(A) 1989 (B) 1906
(C) 1898 (D) 1888
A is the amount one pays for a

good or a service or an idea.
(A) Product (B) Policy
(C) Profit (D) Price

Which of the following does not belong
to the 'Sapta Sindhu’ or seven rivers
mentioned in Rigveda ?

(A) Rawi (B) Chenab

(C) Markanda (D) Jhelum

Fatehabad district of Haryana derives its
name from the eponymous Headquarters
town founded by in the 14"
century who named it after his son Fateh
Khan

(A) Ghiyasuddin Tughlaq

(B) Allauddin Khilji

(C) Firoz Shah Tughlaqg

(D) None of the above

Is a traditional Punjabi oraltory-
telling that came to South Asia with migrants
from the Arabian Peninsula.

(A) Rasalila (B) Katak
(C) Gugga (D) Qissa

—_——  __1ssue I1s an invitation lo
the existing shareholders to subscribe for
further shares 1o be issued by a company
(A) Primary

B) S d
©) Rights (B) Secondary

(D) Bonus
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75.

76.
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77.

78.

79.

80.

81.

82.

discount is the deduction

___...--—-"'-_-,-——. .
from the invoicé price granted to all those
eir bills within the desired

who clear th
dead-line.
(A) Cash (B) Quantity
(C) Trade (D) All of these
Botanical Survey of India (BSI) brings oul @
an inventory of endangered plants in the
form of publication. it is titled as
(A) Red data book (B) Green data book
(C) Blue data book (D) pPink data book
The processing function is divided between | 79
the processor and
(A) Memory (B) Disk
(C) Optical Drive (D) VO device

is the first Indian wrestler to 80.
win two medals at the World Wrestling
Championships.
(A) Vinay Phogat (B) Sakshi Mallik
(C) Bajrang pPunia (D) Sushil Kumar

81.

profit as the excess of revenues

over expenses.
(A) Gross

(C) Net

Four charges are arranged at the co
of a square ABCD as shown in the figure.
The force on the positive charge kept at the

centre O'is

(B) Notional
(D) None of these

rners

(A) Zero

(B) Along the diagonal AC
(C) Along the diagonal BD
(D) Perpendicular to side AB
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English Language

I|n the following question, choose the word opposite
In meaning to the given word.

83. AUSPICIOUS
(A) Spicy
(B) Unfavourable
(C) Conspicuous
(D) Condemnatory

Use appropriate modals to fill in the blank.

84. 1t rain, it is so sullry.
(A) May (B) Can
(C), Should (D) Would

Direction Q. No. 85 and 86 : In each of the
following questions, a sentence is given with a
blank to be filled in with an appropriate word. Four
alternatives are suggested for each question.

Choose the correct alternative.

85. My friend took his first pay to the bank to
it in his account.
(A) deposit
(B) deficit
(C) debit
(D) demote

86. Thelitle girl for the light swilch
in the dark.
(A) groped
(B) grappled
(C) gripped
©) grovelled

89.

90.

1512019 (17)
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